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[1] PCB¥ 300 --- --- 75 --- --- $%3%0.26 %3%0.75
[1-11€/ Z7vnv 7=V 41 --- --- 9.3 --- --- 0.02 0.04
IBEVEEIEY | 74 --- --- 16 - --- 0.1 0.3
[1-3] hY Zvnbe 7=/ 73 --- --- 20 - --- 0.04 0.11
[1-4]7 N F7mu b7 x=)VH 49 --- --- 14 - --- 0.02 0.06
[1-4-11 2775 —PCBDO > H 3344-7 F 7 /vt 7=, (#77) 0.32 --- --- 0.095 --- --- 0.007 0.018
[142] =757 —PCBD 5 & 34457 5/ nut 7 x=/, (#31) 0.033 w0016 — 0.007 0.018
[1-51 X2 7mua b7 =)V 42 --- --- 11 - --- 0.01 0.04
[1-5-11 2775 —PCBD > 5 233 44- X%t 7 ==L (#105) 1.1 --- --- 0.34 - --- 0.01 0.03
[1-52] 277 —PCBD > 5 23445 X% 7vpub 7=/, (#114) 0.12 --- --- 0.033 - --- 0.008 0.020
[1-53] 277 —PCBD > 5 23445 X%/t 7 ==L (#118) 34 --- --- 0.86 - --- 0.009 0.024
[1-5-4] 277 —PCBD > 5 2344 5- X% nut 7=/l (#123) 0.076 --- --- tr(0.018) - --- 0.008 0.020
[1-5-5] 277 —PCBD > 5 33445 X%/t 7 ==L (#126) 0.049 --- --- 0.022 --- --- 0.006 0.015
[1-6] ~FH7mu b7 ==/ 14 --- --- 3.7 --- --- 0.01 0.03
[1-6-11 27757 —PCBD 5 5 233 44,5-~FH /oot 7=-=/L (#156) 0.18 --- --- 0.047 --- --- 0.009 0.024
[1-62] =75 J—PCBD 5 & 233 44 5-~XJ 70t x=/L (#157) 0.05 | woon | — 0.01 0.03
[1-6-3] 277 —PCBD 5 5 2344 55-~F 7o 7x=/, (#167) 0.083 --- --- tr(0.020) - --- 0.008 0.021
[1-6-4] 275 —PCBD 5 5 33 4455-~Fh 7o rx=/L (#169) nd --- --- nd --- --- 0.008 0.021
[I-7]~7 X 7w ==/ 2.8 --- --- 0.70 --- --- 0.01 0.03
[1-7-11 2775 —PCBD > 5 2233445 ~7 ¥ 7nube 7=/, (#170) 0.18 --- --- 0.057 --- --- 0.007 0.019
[1-7-2] 27 ZF—PCBD > 5 22344,55-~7%7vub 7=/ (#180) 0.47 --- --- 0.11 --- --- 0.009 0.023
[173] 2757 —PCBD 5 & 2334455 ~7 % 7 au €7 ==/ (#189) w(0.014)| | w0.008)] — 0.007 0.018
[1-8) A7 #7vau b7 =)V 0.33 --- --- 0.10 --- --- 0.02 0.06
[19] /) ZuuE ==Lk 0.07 | w003) | — 0.02 0.06
[1-10] T 7R ET 2=/ 0.030 - - 0.058 - --- 0.006 0.016
2JHCB (~X V7 au~_ ) 110 30 0.2 0.6
Bl7 AR > nd nd 0.02 0.04
DRI 11 38 0.02 0.06
5]l=rRU v 0.46 --- --- 0.11 - - 0.04 0.09
[6] DDTZH 11 --- --- 3.0 --- --- $%3%0.09 3% 0.24
[6-1]p.p'-DDT 3.9 0.75 0.03 0.07
[6-2] p.p'-DDE 42 14 0.03 0.08
[6-3] p.p'-DDD 0.15 0.06 0.01 0.03
[6-4] 0,p'-DDT 2.3 - - 0.53 - - 0.008 0.019
[6-5] 0,p'-DDE 0.47 - - 0.15 - - 0.006 0.016
[6-6] 0,p'-DDD 0.17 - - 0.07 - - 0.01 0.03
[71 7 vvT U8 270 --- --- 55 --- --- $%3%0.18 $%3%0.43
[7-1] cis-Zva/L T 89 - - 17 - - 0.06 0.16
[7-2] trans -7 )L 7 100 - - 22 - - 0.05 0.12
[7-3]AF v 7 anrs 1.2 - - 0.52 - - 0.02 0.04
[7-4] cis-/F o 11 - - 1.7 - - 0.02 0.04
[7-5] trans -/} 2L 67 - - 14 - - 0.03 0.07
[81 ~7" % 7 v )L¥H 26 --- --- 7.1 --- --- $%3%0.07 %3%0.21
[8-1]~TF % 7 a 24 - - 6.2 - - 0.01 0.04
[8-2] Cis-~TH V)L TAHRF TR 1.7 - - 0.91 --- --- 0.01 0.03
[8-3] trans -~ X7 )L TR VR nd - - nd - - 0.05 0.14
[9-1] 2-endo,3-ex0,5-endo,6-ex0,8,8,10,10- 427 % 7 v R )L} > (Parlar-26) tr(0.16) --- --- tr(0.13) --- --- 0.09 0.23
[9-2] 2-endo,3-ex0,5-endo,6-ex0,8,8,9,10,10- / 7 1 v R /L) > (Parlar-50) nd - - nd - - 0.1 0.3
[9-3]12,2,5,5,8,9,9,10,10- / 57 aa R/ (Parlar-62) nd --- --- nd --- --- 0.6 1.6
[10]~A Vv R 0.14 - - 0.048 - - 0.006 0.015
[11-1] a-HCH 110 - - 25 - - 0.05 0.12
[11-2] p-HCH 13 35 0.03 0.09
[11-3]y-HCH (BI% : U o7 >) 24 51 0.02 0.06
[11-4] 8-HCH 2.5 - - 0.42 - - 0.02 0.04
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(B3R 7 eV 7 2= xz—5 )V (BB HI0ETOEH D) tr(12) tr(9.4) %3%6.0 XK 19
[13-117 hTF7aEYT = =)L=—7 LI 1.6 0.19 0.04 0.11
[13-1-1]2244-F F I 70E0 7 2= Lx—7 L (#47) 0.88 0.15 0.03 0.08
[132] RV H T u®EVT ==L —7 LV 0.28 1r(0.10) 0.06 0.16
[13-2-1]12244 5~ X7 uEY7 == LT—7 )L (#99) 0.20 1r(0.08) 0.04 0.10
B3] ~F VT uEV 7 =L —7 L 0.36 nd 0.09 0.22
[13-3-11224455-~% VT aE€P7 = )Lx—7 )L (#153) 1r(0.07) nd 0.06 0.15
[13-3-2]22'4456-~% V70 €07 = )Lx—7 )L (#154) 1r(0.04) nd 0.03 0.09
(13-4 ~T X TuEVT ==Lt —7 VI nd nd 0.1 0.3
[13-4-112,2'33'45,6-~7 ¥ 7 uEP7 == )Lt—7 )L (#175) KO nd nd 0.1 0.3
[13-4-2]22'344,5,6-~F 4 7 0EYT 2 =Lx—F )L (#183) OEFE

(135|427 27 B€EY7 == )Lx—7 )L 0.4 0.3 0.1 0.3
[13-6] / F 7 0EVT7 == /Lx—F LM tr(0.7) 1(0.8) 0.6 1.8
[13-7] 77 0EYT 2 =)LT—T )L tr(9) tr(8) 5 16
[16] R X 7P 80 74 64 19 13 20 25 6.4
[17]7 ~F 7 una~xs P U 160 160 120 79 73 65 K10 K26
[17-111234-7 hF 7o ¥ 87 31 65 46 42 40 32 8.3
[17-21123,5-7 hF 7~ ¥ 33 35 24 19 18 14 3.4 8.8
[17-3]1124,5-7 hF 7P 45 45 34 14 13 11 3.7 9.4
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